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No. of Questions/yvif % vem : 180

Time /@44 : 2 Hours /9% Full Marks/qorts : 450

| Note/#ZT : (1)

{343)

(2)

(3}

This paper consists of.Objectichjrpe Questions and is divided into TWO
Sections (I and II) as under : ' :

¢ T-13 Wafawedn wEl 9t srha & qn @ Wl ([ ) F R R, Y
fi= wffr & .

{a} Section—I consists of 130 Objective Type Questions.

(%) wes—] 7 130 wrfedm v &

(b} Sectiom—II consists of 30 Objective Type Questions on (i) English
Language and {ii} Hindi Language.

(@) =mes—II % 20 wyfiwedlr v (i) sl v o (i) ) s &% T w
i £

A candidate is required to attempt as many questions as he/she can of
Ssction—1, and questions of AKY ONE of the TWO Language papers
(i} English or {ii) Hindi in Section—II.

it & wifiE & 6 wvs—I w wum—II % (i) s @ (i) el W T &
AR wET W 'S W)

Each question carries 3 marks. One mark will be deducted for each itncorrect
answer. Zero mark wilt be awarded for each unattempted question.

W 3 3 Fiw W ) vEE TEm I & R ue o W S| SerE siqwhe
W W WW® ¥ R
[f more than one alternative answers seem to be approximate to the correct

- angwer, choose the closest one.

Tk whes dwicos I o W § B i o, @ Freem w3 #

Each question is followed by Four alternative answers (1), (2), (3) and {4). Only
one of these answers is correct. Select the correct answer and record it against
the relevant guestion number by darkening the circle with Ball Polnt Pen on
the Answer Shect, aa per the guidelines.

voE T ¥ Wi AW aw g ow ¥ R (1), (2), (3) ™o (4) WA #
oim mar At Wit B FAA w0 I wh R oW I W oW PR T
Hht ® IW-Ty w el v dEn ¥ e fdmgan Ra e (iemd) @ o
wfyz 13 TR wen =% i) -

1 (P.T.0)
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Seaction—I

a1
If a severe ear infection damages the bones of the middle ear, you may develop
hearing impajrments. .
(1) nerve (2) stimulation (3] conduction {4} brain pathway

I TR wof dEm wer ol f ofgdt F ot ofewn b, A oam F B ——
aqu wgwen fefam wi

{1) wf (2) e (3) A | (4) wfers A

Which of the following properties of sound would be the most similar to the
brightness of light?

(1) Pitch (2) Loudness {3) Purity (4} Timbre
fm i 3w Pe-dh P e R oA w2
(1) e (2) e (3) [&m (4) T
Congenital hypothyroidism is known as
(t) cretinism (2) cerebral palsy
{3) spina bifida {(4) athetoid
o wEaETater w we f |
(1) $fef= (2) wfmfr g
(3) =mFn A (4) QRS
Which one is waterborne disease?
(1) Poliomyelitis (2) German measles
{(3) Atresia (4) Keratomalacia
2
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fo # & weatm im AR A7

(1} e (2) wiT Mfwm  (3) i © (4) PRARAfEn

The retinal cells which are responsible for black and white detections are called
(1) rods (2) cones

(3) rods and cones {4) cornea

oz 3w = T R & RN AR-1 Ae wited e §7

(1) o (2) #% (3} ¥oq W W@ (4) W

Which of the following is not gross motor skill?

{1) Walking (2) Skipping (3) Jumping (4) Sewing

fm # & fo-m g oft Fhee T 7

(1) ST @Ww @ (4) forem

Which statement is true?

(1) Disability leads to impairment  {2) Impairment leads to disability
(3) Handicap leads to impairment {4} Haﬁdicap leads to disability
faer 1 & WF-T wm T A7

(1) smprm, sfwreen @ SR F o ¥

(2) gfwrewm, sgwm A A & e R

(3) Rrerinen, gRowmn 6 3R |/ swEh R

(4) s, e A i A ot @

3 (P.T.0)
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Otitis Media is related with .
(1) visual impairment - (2) hearing impairment

(3) autism (4] learning disability
sirfew whfem e wafem 47

(1) ghaitn (2) avrEntm (3) T (4) sfrm seE

Which of the following Is characteriatic of a student who has echolalia?
(1) The student has no capacity to relate to others and does not speak
(2) The student mimics the speech of others

(3] The student's voice may be either too high or too low

(4) The student lacks fluency in apeaking

e d & S-dt s ‘et ¥ e # A Ao

(1) o9 & od & W g N w0 qw drewm T

(2) I gl f Ioh F Zvom &

(3) B A o W A g i B oW

(4) B SrTETY T dte e d

The sense of taste is closely related to the sense of

(1} sight (2) hearing (3} smell 4) touch
WE W H B A A e w3 P e A7
(n 3 (2) s @ (4
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n syndrome, the twenty-third pair of chromosomes is missing on X,
resulting in infertile females.

(1) Phenylketoneuria (2) Down

(3) Klienfelter’s o " (4) Turner's

frr 3 @ fiem frgiw 233 wrEw §x o om, Red weerew afted dan @
awft ¥7

(1) FeEmEre=giE (2) T3
(3) FATHTEH, | (4) TH

What 1Q would a person have whose mental age is 10 and whose chranological
age is 157 "

I =i ) gz 7 fft fenfhl TRfes g 10 T AR g 15 99 X7
(1) 150 {2} 150 (3) 067 {4} 67
Which one is not cognitive characteristic of mentally retarded?

(1) They suffer from cognitive problem

(2) They forget things while responding

(3) They lack the ability of information processing
(4) They are deficient in social maturity

fiw & @ WR-H By fri TRRE T o B T8 7
(1) & dwmmoTE Tl @ e §

(2) & viafem =@ o 9= F @ T €

(3) ¥ gEm wBe T @ g o d

(4) v wonfie qfosn A w0 o I R

5 (P.T.0)
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16.

17.

(343)

What type of cell is responasible for the reproduction of ather cells of the body?

(1} Blood cells  (2) Stem cells (3] Neurons {4) Basal cells
vt ¥ Zuh W ® v § e TR PR R

(1) R Awd (2 Ry Bl (@) [H (4) ¥w= Frftnwd
Which educational program is not very appropriate for gifted children?
(1) Ability grouping (2) Enrichment |

{3] Remedial (4) Assignments

i ¥ A Weom A e SR T & R e S T
() &t S (2) W

(3) GERITRR (4) " Fn FW (TEERR)

The clear watery fluid which supplies nourishment to the eye is called
(1) retina (2) aqueous humor

(3) iria (4) cerebrospinal fluid

wy wefT zw W A A e wen ¥, weem

(1) e - {2 TR R

(3) s (4) Fraiveme Zw

In Esotropia

(1} the eyes turn in (2} the eyes turn out

{3} oscillation of eye (4} no clear vision
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W
(1) I I ' TWE H B (2) % T WE B oW 2
(3) = ¥ H= (4) =2 3 F A7 @

Visual acuity 6/60 means that the individual can see

(1) at 6 metres what a normally sighted person can see at a distance of
60 metres '

(2) at 60 metres what a normally sighted person can see at a distance of 6
meitres

(3} at 6 feet what a normally sighted person can see at a distance of 60 feet
{4) at 60 feet what a normally sighted person can see at a distance of 6 feet
wsoqfhhmmawftﬁswﬁﬁﬁ%umi

{1) 6 Wix & st 7 & A= 2 T 60 Wi ¥ @ wwr

(2) 60 Wiz @ st % v amA ¢ a1 6 W & I@ waAr R

(3) 6 $” A o B ww wmma R aen 60 Bz A W W 2}

(4) 60 2 @ W & v amry 3t arer 6 F2 F Xm www R

Which of the foliowing would be most useful for orientation and mobility
training for students with visual impairments?

(1) Auditory training
(2} Verbal descriptions of learning activity
(3) Tactile maps of school building

(4) Slate and stylus for note taking
7 (P.T.0}
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gt Bnl ¥ Afimem @ aeem viee & RR e | wn waifte soge
w¥m?

(1) &Em Wi

(2] wftrmr firmmaif & dfers e
(3) fearers vt = et e

(4) 2 T ¥ fol W ok wifew

A page tumer device will be helpful for which category of disability?

{1} Autism (2) Asperger syndrome

{3) Muscular dystrophy {4) Dyscalculia

ey A s & o I i v wae d@mo

(1) w=efia (2) TEeeRr fagm

(3) wepER oy (4) Feedrenpfovan

The sounds of the letters b, z, ¢ and d are examples of

{1) morphemes (2) phonemes (3] semantics {4} syntax
b, z, c 3 4 = fmmm o #7

(1) wrkFR (2) W (3) WifRem (4) frdw
The Beharul Islam Committee recommended the formulation of
(1) The PWD Act (2) The RCI Act

(3) The NTA Act, 1999 [4) The Mental Health Act, 1987
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e T WA A B A @ Feh Relm @ @t

(1) Pogaiodte TH (2) ARoHtoHAe Ya
(3) WeHeuo t¥, 1999 (4) 2 WA & i!:ﬂ,_ 1987
The term ‘Inclusive Education’ came during the
(1) Jometian Declaration (2) UN Decade Declaration
(3) UN ESCAP Declaration (4) Salamanca Declaration
‘st R’ we fem W wEm gen?
(1) Srifim ftem (2) Yoo f¥%x fEwRym
(3) JowHe Twy TeFAEH (4) o= fEEee
To provide the parental care is one of the main objectives of
(1) NTA Act (2) PWD Act
(3} RCI Act {4) Mental Heaith Act
frm & A femw go S afvEs oo Tawe 47
(1) Todlote e - (2) fogeqodte ¥
(3) ARowtoamlo T (4} T Wou U
Which disability was not included in PWD Act, 1995 ?
{1) Mental retardation (2) Leprosy disease
(3} Learning disability (4) Hearing impairment
9 '_ (P.T.O.)
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fe 5 & few s 9 fozsegedto twe, 1995 § Wit = fem o a1y
(1) 7R+ Tgm (2) % (3) st s (4) wam svan

Which of the following is not a teaching aid for visually impaired child?

(1) Taylor frame - (2] Abacus
(3) Talking books  (4) Charts
= 3 3 W=t fown wees wenlt sfefm aem % Rl ol 27
(1) ¥R BH (2) Tawg (3) werlt fimml (4 9@

Anu is g first grade student with Spina Bifida. Which of the following assistive
devices would Anu benefit the most?

(1] Hearing aid | (2] A braille writer
(3) Leg braces (4) Spectacles

*, foven (W amfeE) & ot vweh oW o b B # @ ahed wwinh
wrEll o W T Aftw Wy Wl

{1) 5aw o (2) ¥ g (3) =M *AA (4) =

Which one is not the advantage of inclusion?
(1) Secial integration

(2} Family involvement

(3) High cost

(4] Better understanding of normal peer

10



as.

(343)

15P/247/4

fr= % ¥ HE-m aEAvE w5 T A 7
(1) S FHEE (2) aiERE v

(3) 3| v (4) TR Gt f dE

Visually impaired children have difficulties in understanding the map because
it represents the real environment in

(1) concrete form (2) abstract form

(3) two-dimensional form (4) three-dimensional form
;&mmﬁmﬁmmﬂaﬁhﬁmmmﬁmtﬂﬁﬁiwmﬁm
T B —— § wega wom R

(1) @ w9 & | (2) wd w7 #

(3) fefefm =0 & (4) fafefm w7 #

Which is not shortcoming of special school practice?

(1) Low cost (2) Loss of role models
(3) Labelling (4) Less time in school
i § @ da-wh i et f =0 @ A7
(1) ¥R TR (2) ¥= wiga H w+H
(3) T (Frafem) (4) Torrer & +9 W@
1 P.T.0)
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What was the main objective of Education in Vedic Period?

{1) Physical Development (2} Knowledge Development
{3) Spiritual Progresa (4} Moral Development
i = & fire = Tor Skw w0 @

(1) iR frem () YA A

(3) menfe sy | (4) Ao frem

Child Education in Buddhist Education System was of
g firn wmedt § Ay A o ey o @ G
(1) 6 ' (2) 8 (B 12 (4) 25

years.

Which Muslim Education Centre was named as Shiraz-s-Hind by Shah Jahan?

(1) Delhi (2) Agra (3} Firozabad (4} Jaunpur
mewrEl 3 frm gfeem foan ¥ @ d-u-fg T a7

(1) gt (2) s (3) Relramang (4) S
Who established Poona Sanskrit College? |

(1) Peshawa (2) 'Raja Ram Mohan Ray

(3) Governor Wellesley (4 Governor Elphilinstone

TN R FES ® wen e f @2

(1) S | (2) T T T

(3) TR A (4) T Ceiaen

12
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Lord Macaulay was sent as of the Council.

(1} Member | (2) Legal Advisor
(3) Education Adwvisor (4) Finance Advisor
d TR N T kS R R W ST W

(1) W (2) W HETEER

(3) Pre weEwR (4) Py wemEwR

Who suggested to hand over primary education to local bodies?
(I) William Bentinck

(2) Auckland

(3) Wood Despatch, 1854

(4) Indian Education Commission, 1882

vt i, wEie Bt B A gee R R w7

(1) fuftem &% (2) ATRAE

(3) gs frelt=m, 1854 (4) wweftg fivgr a4, 1882
Who established Central Education Department in India?

(1) Charles Wood (2) Lord Canning

(3) Lord Curzon (4) Lord Ripon

v % FE T R it wan B B e |
(1) = g2 (2) atE & (3) @t wi= (4) &€ fem

13 (P.T.0)
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Who was the first Principal of National College, Calcutta?

{1) Tagore " (2) Aurobindo

(3) Rasbehari (4) Lala Lajpat Rai
T Flaw, FAFT & 0 TN W 47 |

(1) i (@) W

(3) Tt | (4) AN deEA T

How many universities were there in India during 1936-37 ?
¥ 1936-37 ¥ W 30 § Fo e Rreafem &0
(1) 5 (2) 12 {3) 17 (4) 19

When was Acharya Narendra Deo Committee [ appointed?
e ¥ i i o frgfe v gl A7
(1) 1939 (2) 1949 (3) 1952 (4) 1964

What was the area of Mudaliar Commission?

(1) Primary Education (2) Secondary Education
(3] Higher Education (4) Total Education
eI St W FwEES T o9y

(1) Wi fon (2) meafs fimn (3) 3= fon (4)_tr=q;oiﬁfm

14
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People of which age group were included under Adult Edlication of National
Education Policy, 1979 ?

e fimn AR, 1970 # fg R & srofa fm oy @t F A R w0 T @7
(1) 1040 (2) 15-35 (3) 1540 (4) 10-20

When was Informal Education started at the primary level?

mufE W W s g wa gew @ o A2
(1) 1979 (2) 1989 (3) 1969 (4) 1999

When was National Teacher Education Council recognized as a constitutional
body?

wi fims fwn gieg W wdwPe ool w wEE fem o ae
(1) 1973 (2) 1983 {3) 1993  (4) 1995

Artificial Limb Manufacturing Corporation was established in the year
wfm i ffr fm fre o s few T
(1) 1972 (2) 1973 (3) 1982 (4} 1983

How many chapters are there in Person with Disability Act, 199572
frae T sfRRm, 1995 § fwt sram #7

{1} 12 2) 13 {3} .14 4) 15

15 {P.T.0)}
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47. Pulse Polio Immunization began in the year
v Nfedt Hwmm frg a wrow fer g
(1) 1992 (2) 1993 (3) 1994 (4) 1995

48. Maternal Reflective Method was given by

(1) Dr. Van Uden (2) Rochester
(3) Dr. Orin Cornett (4) Philip
TR e Ay U & o o
(1) T ¥ 37 '(2] TR
(3) ®o AR wiz (4) TR
49. Assistive Listening Devices are instruments for
(1) hearing children (2) hearing impaired children
(3) autistic children (4} learning disabled children
T WEEH T —— ¥ Iyww K|
(1) g1 I e (2) wERE ¥
(3) el w= : (4 s ¥

80. integrated Education of the Disabled Children began in the year
s w=t & B wife o R af wow wdo

(1} 1973 (2) 1974 (3) 1975 (4) 1976

(343) | 16
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UNESCO Conference on the Education of the children with special needs was
held in

(1} Japan | (2) Germany (3) India (4) Spain

fafire s T w=t f e ® e e e Sl gen 97

(1) WA (2) Fh . (3) wRm (4) W

Community Based Rehabilitation means

{1} working in the community
{2) bringing the community i;m school |
(3) going into the mmmunity and working for rehabilitation
(4) finding jobs based on community needs
wqem i gAEtE W oaned 3
(1) aqga # =4 w0
(2) ¥HT™ ® frem ow A/ A
(3) WYER & W gAled w1 oA w
(4) THEA B NEATFATEY HTEE G
Labelling the child with disability is not desirable because
(1) it is a negative value
(2) it is forbidden in the policy
(3} a child with disability will not take it
(4) it is against human rights
17 P.T.0.}
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aam wet = sifen won SPm ool 8, =il
(1) T® TewEE g & (2} W fify ¥ gam falg ¥

(3) M W= W T @ T ¥ (4} ¥ o ARl ¥ g 3

Which of the following is called language deficiency?

(1) Aphasia (2) Speech disorder

(3) Voice disorder (4) Articulation disorder

P & 4 W Wt dw AR e €7 |

(1) SwEmER (2) =% 4m (3) FA™ S {4) TER 2

The teacher should deal disabled children

(1) with apathy | (2) with sympathy
(3) with antipathy (4) normally

M TSl % WG TWITE W OEER HN ARG

(1) form fawh W & wm (2) weAqf % Ty
(3) fawdm v % W {4) s M R}

Which of the following subject(s) is found to be difficult to understand by the
visually impaired children?

{1) Language (2) Science | (3} Maﬂicmatim {4) Art and Craft
oot weit = A % B fam e W TR § weiie wi R 47

(1) =M (2) = (3) 7t (4) T @ s

18
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How many Vocational Rehabilitation Centres are there in India?
W # =eEE g d R 47
(1) 17 : 2) 18 3 19 4) 20

SADP stands for

wWotodoflo #w T R

(1) Scheme of Aids and Appliances for Disabled Person
(2). Scheme of Adjusting Disable Persons

(3] Sccial Adjustment of Disabled Persons

(4) School Assistance for Disabled Persons

How many types of professionals are registered in RCI?

v gata e # fRR TR & R Gl §7
(1) 15 (2) 16 (3 17 (4) 18

NPCB stands for

(1) National Prevalence and Centre of Blindness

(2) National Programme on Control of Blindness

(3) National Prevention and Centre of Braille Books

(4) National Population Control and Braille

19 (P.1.0,)
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THoftotfteafte & et B

(1) Ta voeE @ Fidem ¥

(2) 3t % P o mfr wRiew
(3) THR o= @ A TEE

(4) U e PaEn W Re

Which of the following strategies is most suitable for introducing a lesson?

{1) Lecture (2) Questioning

(3) Narration {4) Dcmoﬁatratinn

WS YewE & e fe ¥ v R e W k2

(1) e (2) S g (3) i (4) wexf

Which of the following purposes is not served by lesson plan?
(1) Suitable learning environment can be created in the class
(?) Psychelogical teaching is possible

(3) A teacher can stick to his content

(4) Can provide individualised instruction

f %} #-w w6 v g o o W 4

{1)m¥hmﬁamﬂ'-ﬁﬂwﬁmt
(ﬂmﬂﬁﬂimﬂtmﬁmﬂmﬂmi
(3) T wova & wewm T R

(4) daferw g ¥ o #

20
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Personalised system of instruction was propounded by

(1) Robert Mager (2) Allen and Ryan
(3) S. Keller | {4} Norman Crowder
e s2eR yomeh & o #

(1} Yo AW (2) TEA AT A

(3) =\ ¥ (4) AT W

Which of the following teaching aids help the pupils to study, analyse and
compare dates?

(1) Pictures (2) Diagrams {3} Graphs (4) Maps

frer & 7 We- wews wwh wwl B AR % swRR, Reew @ gEn 9
wEs W A7

(1 for {2) G (3) Ymfem (ATE) (4} T
Kindergarten method of teaching was developed by

(1) Froebel (2) Rousseau {3) H. Spencer (4) Pestalozzi
firgm 1 foonda v feed Rl A di?

(1) wres (2) w1 (3) THe TR (4) YEAErSh

Interactive phase is likely to fail if

(1) diagnostic phase is defective

(2] post-active phase is not properly planned
(3) interactive phase is properiy activated

(4) Both {1) and {3)

21 (P.T.0,)
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67,

= faers s o fge @ Wl O

(1) Frerem sEeq Jrge B

(2) Tl wEan T veivify fafe 3 @

(3) FwfFm wew IR S ywn T @

(4) (1) @ (3) 3 @

All of the following are the advantages of lecture strategy, except

(1) more content can be presented to pupils in less amount of time

{2) objectives of cognitive as well as affective domains of behavior can be
achieved

(3) it will increase the oral communication powers of pupils

(4) habit of concentrating to teaching for a longer period can be developed
frer 3 3 B wrewm Bf W= e ol A7

(1) ¥9 iy § Afw T ol o% YRa =

(2) YFTE Ao WrEreTEE St @ oW W ouE

(3) weml 6 s gag B @ W e wm

(4) 3% w6 wwwrm A v T B g R

To increase the confidence of the teacher
(1) well prepared material aids are required
{2) good preparation of the content is required
(3) classroom diacipline is a must
(4) selection of suitable strategy is needed

22
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v = snenfiEm wol % fog W aEvaE &7

(1) weh wor dam 6 T T (2) wrERRg 6 g A

(3} W SR (4) e 36 = T

RCEM approach of lesson planning has classified cognitive objectives into
(1) 17 categories (2) 3 categories

(3) 12 categories  (4) 8 categories

AMofcfo@me TR WEH AT # Wt ¥ wyrheww Sewt w ey =l § aier
war &7 '

(1) 17 =t (2) 3 =i (3) 12 =f (4) 8 =i

In teaching-learning process, which of the following is done first?

(1} Determination of objectives (2) Determination of strategies
| (3) Task analysis (4] Writing objectives

TR-tet B Wewm F e f & v oowd @ Ben ST wifew?

(1) Fwt = fagio (2) gfwai =1 Frafo

(3) w Rreergor (4) I wE

B

(343)

Which of the skills do you consider most essential for a teacher?
(1) Encourage children to search for knowledge
(2) Gather all the information for the children
(3} Ability to make children memorize materials
(4) Enable children to do well in tests '
23 (P.T.0.)
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12!

Tai

(343}

mﬁm@mﬁmmgﬂmﬂw%?
(1) I @ wem w3 & fog i W i w

(2) wEt F Ry wd gt e e

(3) BTl ® WAl WA T '

'HImiiai\trﬂmﬁmﬁaiﬁﬂmﬂﬁﬂiﬂqmm

The concept of advﬁncc organiser was developed by

{1) Bruner (2) Ausubel (3) Erikson (4) Kohlberg
3= TET SEurn & faww feeR fRn ot
(1] LW (2) HAfgi= " (3) =R (4) wrieni

The best technique of teaching at primary stage ia
(1) the traditional blackboard and chalk technique
(2} self-learning |
(3} practical training

(4) game/playway technique

T W W T FER ot W 3

(1) Tt fafy A ¥ T WM 9§ W T

(2) ETAH

(3) wmifie fafy

(4} d= Ry f =

24
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Children learn better if a teacher
(1) repeats the instructions again and again
(2) does the same wo;'k before children to set an example
(3) give directions to children to learn from book
(4) allows the children to work on their own
T M e dE T ¥ 5w s
{1) a7gexii ® =W W T
2) 7= & WA I TER ¥ o o v vk Rum
(3) w=it it fomm & A w0 /A R R
(4) ¥t A WE T T W NG 2
The teacher can become an effective communicator if
(1) he uses interactive style
(2) he helps the students in understanding the meaning of what he is teaching
(3) he asks the questions while teaching '
(4} he helps the students in answering subject-related questions
w w7y FEREal {4 S
(1) Hawe Al T |
(2) freffat = awh wen F wd ™A@t W o wE § g =t
(3) R TR TE I3
(4) g & v=fRE wE W@ W Fe § Rl f e ®
25 ‘ . pTO)
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76.

77.

(343)

To teach three languages, which of the following stages of education is
important (useful)?

(1) Lower primary stage {2) Upper primary stage

(3) Secondary stage (4) Higher secondary stage

i % frw w W @ sl @ frgor T el wn e g 37
(1) fra ymafirs = (2} I= Tl W/

{3} AsafiR ww (4) ¥ AR W

A teacher can be successful in his aim

(1) by keeping his students in discipline

(2) by making his teaching impressive

(3) by punctuality

{4) by taking care of the interests of the students
W SR AT WEd R e d

{1} omt wt sgnfie W W

(2y fiveor g

(3) MR W IR W W |

(4) ot € W B AW ¥ ™ W

a6
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Good education is that which helps a student to

(1) act according to the need of a situation

(2} become aware of his rights as a citizen

(3) acquire expertise in some particular area

(4) realize his capabilities and limitations

78 firr a7 & st fRanfisi

(1) ol F ageR G w3 # o ® -

(2) W WEF & w7 § s sfierd & wfy svew

(3) ﬁm&ﬂwﬂaﬂﬁﬂmmﬂiﬁmﬁ

(4) T apretl ol et w1 v we

In interacting with the students, teacher should

(1) maintain his dignity and authority

(2) keep them under supervision and control

{3} be one like them and identify with them

(4) respect and listen to them on an equal basis

o % Y sfE A, o snams

{1) woh s dn T TR e afi

(2) Bt B a3y Py a Fewr § @ Wi

(3) W ¥ & | W TR TN s =i

(4) R TEAEE A | gEl W ¥ IR W@ g R
27 | ®20,
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81.

83.

(343)

The teaching becomes effective and joyful for the teacher, when students sitting

in the class are

(1) active in satisfying their curiosity

{2} raise hands in response to questions put by the teacher
(3) not trying to ask their questions

(4) all of the same intellectual level

firgw & g fogm W SEIE! qwn SRR g ¥ I e
(1) 3 Fgea  ww w2 F e

(2) g g0 @ T e W wfefen A e s

(3) 3 FE W @A =W 7w

(4) o R TR hgE T E W

The term formative evaluation was given by

(1) M. Scriven ' {2) William Black
(3} Norman Groniund (4) Charles Spearman
E——— e R R T
(1) Wo WEA 1 (2) e =% 3
(3y A TeETE 3 (4) =red wiedT A

Diagnostic test is a special case of
(1} norm referenced testing (2) criterion referenced testing

{3} a combination of both {4) None of these
28



Prervers vhww ffm TeR 1 ——— iy B R
(1) WA wfta |

(2) Fre w=fifa

(3) 7T W P gt vl & o
M]ﬁﬁwﬂ'hﬂ

Noerm is.dcﬁncd as

{1) the typical performance of a group _
(2) well defined objectives derived from a specific content
{(3) the maximum score obtained on a test

{(4) the variance of scores in a group

e ¥ TRaive Ren S

(1) 9% & ¥7 §

(2) fown gafAm sgwi & w1 #

(3) Theo W ww it TAE ¥ w9 9
(4) TIWERT % WORWF & ¥9 H

The lowest level scale of measurement is

(1) ratio level (2) interval level
(3) ordinal level (4) nominal level
A & freem w wR-E @ R

(1) ST (2) st=me (3) whEE ' (4) i

29
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87.

(343)

Measurement is the process of assigning numbers to objects according to some
agreed rules. This definition was given by

(1) S. 8. Stevens (2) Richard Lindeman
(3) Bradfield and Murdock (4) G. C. Helmstadter

m&mﬁ%mmﬂaﬂﬁmmmﬁaﬁMﬁwmllﬂ
vfoern fran 4 47

(1) WHo o A (2} =d fxmmm

(3) txfez @ qet= (4) o wo ¥dwt

Which of the following scale of measurement lacks an absolute zero value?
(1) Interval (2} Ratlo

(3) Both (1) and {2} {(4) Neither (1) nor {2}

o % e R ¥ aneiys Y W awE wa ¥

(1) sl (2) 3II™ .

(3) (1) 3R (2) B (4) (1) ¥ (2) F ¥ *nf

The scores obtained on an achievement test is an example of
measurement.

level of

{1} nominal (2) ordinal (3) interval (4) ratio

Fqefsy hmn ¥ WwiE A % R 'R w afahife e ¥

(1) 7| - (2) wfm (3) A {4) FFIR
30
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Which of the follw'ing' statements is not correct?

(} Measurement is part of evaluation process

(i) Examination is a broader term than evaluation

(ii) Measurement is errorless

(iv} Evaluation leads to decision making |

{1) (iv) is incorrect (2} [ﬂl}l and (iv} are incorrect
(3)- (ii) and (iii) are incorrect (4) (i), (i) and (iii) are incorrect
f= 4 & d-w v w47

(i) "R I w W am R

(ii) e T @ geer § smow srEuron &

(iii) ¥19= FfeRnfrr v &

(iv) TreieA fofa &% & mewms w2

(1} (iv) 3@ # (2) (i) ¥ (iv) sraeq &
(3) () 9 (i) swew ¥ (4) ), (i) 9 (i) e

Which of the following evaluations is carried out during the teaching-learning
process? '

{1) Summative evaluation

' (2) Formative evaluation

{3) both formative and summative evaluation
(4) None of these
a1 (PTO)
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ﬁqﬁ%m—mﬁhﬂ@nm-m#ﬁmﬁmmmt?
(1) IeTeRE A

(2} FaraTE R

(snﬂﬂmaﬁtzaiﬁmmm‘rmﬁﬁ

(4) vt & = T
90. The evaluation done before r:h: commencement of the instructional process is
known as -
(1) placement evaluation (2) formative evaluation
(3) diagnostic evaluation (4) summative evaluation
s o % Prefon ¥ omted T R R A e W o e 4
(1) etz qETEA (2) TS R

(3) Premies qrare (4) T EATEA
91. Identify the wrong statement : J

(i) Variance of scores is increased through itern analysis in norm referenced
teats

ii) Items of average difficulty value aselected in criterion referenced tests

{iiij Norm referenced tests covers & larger content area in comparison to
criterion referenced tests

(iv) Criterion referenced test classifies the students into masters and
non-masters

(1) () (2) (i) (3) ({iii) 4 v
(343) 32



93,

(343)

- 15P/247/4

FEQ w9 i wEE W=
{i) mmmﬂm_ﬁm%mm%mﬁmmmt
(i) Frex w=ffa olww & e S = & vl =1 w9 fwr wmn

(iii) Frre wgffer whww &t gomn f wew o=ffe vhew 3 Ry w1 AR s
wm

{iv) frer wefifar whgw g RrnffEt & fyw o sfge & fws v s oo 2
(E) (i) (2) (ii) {3) (i} (4) (iv) '

Which research method is characterized as. cyclic in nature?

(1) Action research (2) Survey resecarch

(3) Phenomenclogical research (4) Experimental reseach
Fa-d g fafy = fafy e 47

(1) firae Tiw (2] wde R

(3) FNEET Wiy (4) WErTEE Wiy

The effectiveneas of different teaching methods can best be established using
resecarch design.

(1) ex-post facto (2) survey
(3) experimental ' {4) case study
e A Bifim faftell % qoaem see ¥ waifte oy vim fafy 2
(1) wew-ve Y= (2) waEm
(3) SR (4) ¥ ey
| 33 (P.T.0.}
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94, The homogeneity of the test items is estimated by —— reliability.
(1) test retest (2) equivalent form
(3) split half (4) inter scorer
g R % PreEeiem g SEE & swm ® yR R o 4
(1) wheor-gA.qdym fererdrm (2) wges famassdem
(3) sg-Rrdy favaeiam (4) snules el
98. Which test is most appropriate in mnk:i.t:g predictions  about future
performance?
{1} Intelligence Test (2) Aptitude Test
(3) Achievement Test {(4) Diagnostic Test
| #rd B % R i sgEm e % fwg fee e @ ol S R7
(1) wf% vhem (2) S T
(3) Iuwfets whem (4) Frerree o

96. Identify the odd statement :

{i) A student's score is compared to other students score in & norm referenced
testing

(i) Broad content is covered usually in criterion referenced testing

(iti} The items of & norm referenced test promotes variance

{iv) Scores on criterion referenced test are compared against specific objectives
(1) (i (2) (i) (3) {iii) (4) (iv}

(343} 34
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HTYF TR A T W

(i w7 Fxffa viem § o R & gwis # g s ARl ® wweis @
& et &

(ii) P w=flfa vhen ¥ fveag = e frawr g b

(i} 7 Teff TOe ¥ v e ) wgrn 2% #

(iv} Freee w3 olew & wwiwt g fafte w2 B a R
(1) @) (2) (id) {3 (idi) (4) (iv)

A test has the mean of 40 and 8D of 3. If a student scored 46 on the test, what
percentage of the class scored higher than the student?

(1) About 1%  (2) About 2% {3} About 5%  (4) About 10%

TF Tiw U WRE W 9ewE 40 @ we few 3 R oR el v 3 wwie
46 ®, o Fe vhe ool % TS A afts 7 '

(1) 1 viremr % wmam - {2) 2 ufwm & v
(3) 5 wiewar * v (4) 10 s & smm

The mean score on a test is 40 and standard deviation is 6. What is the T score
for a student scoring 58 on the test?

feft vl w W ®r v 40 w0 e ReeR 6 b 3 whww W 58 s
R W B3 W T-NTHTE R A e

{1} 80 (2) 85 {3} 60 (4) 65

35 (P.T.0)
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99.

100.

101.

(343)

Compute product moment correlation for the data given :

ey ot W TR S e ¥ AR W 30 8N
Xx 10 8 14 6 4 8 7 3 7 10
vy 12 7 13 8 7 6 6 4 9 11

(1) 0-844 (2) 0744 {3} 0-544 (4) 0644

[ncreasing the number of items on a test

(1) increases the reliability of the test

{2} decreases the reliability of the test

(3) has no effect on reliability

(4) influences reliability in unpredictable way
fref whem & gl H dE TP WA W

(1) vhem w1 Prawhan § gan o ¥

(2) whegw = fvawdrer § free sl @

(3) Pt w =i A Tl Ty R

(4) PramRm W U AR WA W SR T SR s

According to Thorndike, the stimulus-response connection is strengthened |

(1) if a stimulus was followed by a response and then by a satisfying experience
(2) if a response was followed by a stimulus and then by a satisfying experience
(3) if & stimulus was followed by a satisfying experience and then by a response
(4) if a response was followed by a satisfying experience and then by a stimulus

36
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According to Gestalt Paychology

(1} the whole is less than the sum of its parts
(2) the whole is more than the éum of its parts
(3) the whole is equal to the sum of its parts

(4) the whole is proportional the sum of jts parts

Tewe wfam & sgEn
(ijmﬂrﬁﬁ;ﬁﬂ(ﬁz}ﬂmﬁmt

(2) 7 3w wpit & A (sha) @ e W @
(3) T Wil % A (shs) F W w2
(4) Tf 70 wFit F A (Shs) F wEw g 2

Which of the following is an example of group test of intelligence?

{1) Stanford-Binet Scale

(2} Wechsler Adult Intelligence Scale
{3) Alexander Pass-along Test

(4) Army Alpha Scale

37
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104,

108.
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Sty # A B-m Wi Wiy vowe W o g 37
(1) erd-fin @

(2) A A YE W

(3) IO TR (dR) vhem

(4) Sl TEw W

Which of the following is a principle of child development?
(1} Development proceeds from general to specific

(2) 'The rate of development is uniform for all children

(3] Development proceeds from far to near

{4} Growth and development are continuous proccsaes

Rrafufm # 3 |- wa-Rem w1 fugr 27

(1) e = T R fafe @ i g d

P — Y R R R R

(3) fwm w1 ww QA Fae @ i wn R

(4) 32 W fem et weR A wieard §

According to Gardner’s theory of multiple intelligence, the factor that would
contribute most for popular leadership would be

(1) spiritual (2) logical-mathematical

(3) spatial {4) interpersonal

38
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m*ﬁ-ﬁm%mnmammmmmm
= W v b _

(1) e (2) Tfbs-nfiefr  (3) wnfs (4) Idaies

Brainstorming method is used

(1) to foster creativity

(2) to enhance desirable behaviour

(3} to reduce destructive behaviour

(4) to develop moral values

AR Sgefe TR w1 awim e s &
(1) gorvileRn W wgra 3 & ford

(2} Wi sFEER w T & R

(3) Fraes R B w9 w7 ¥ RA

(4) AE =i ¥ frem & R

Which of the following is not related to mental hygiene?
(1) Preservative aspect (2) Preventive aspect

" (3) Educative aspect (4} Curative aspect

ﬁq%haﬁﬁah-mmmm-ﬁmﬁmaﬂﬁi?
(1} HOemeR W (2) e 9y
(3) P o (4) IO N

39 (P.T.0.)
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108. Thematic apperception test is used

(1} to assess educational achievement
{2) to asseas personality

(3} to measure intelligence

(4) to identify creative children

i smie vl w1 Em fen e d
mmmﬁlﬁsmtm

(@) =fFE & owen & ford

@) wfeg ¥ ww &% foa

(@) guie T ) e ¥ Rl

109. Which one of the following is a category of personality mentioned by W. H.

Sheldon?

{1} Endomorphic (2]. Introvert

(3) Extrovert (4) Economic

freffag § & FR-H T mn-ﬂﬂwtmmwmmmﬁt?
(1) Tirerwr (GETTEE) (2) s

(3) wfdet (4) i

110. Which of the following is not a physiological need?
(1) Need for food {2} Need for water
{3) Need for affection (4) Need for sleep
(343) 40
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mﬂﬁm-ﬂth{iﬁﬁu)m(m}#ﬁ%?
(1) dem & amawar (2) gt it T
{3) ¥z A TR (4) P B amavgEn

Sociometry is a method to study

(1) the socio-economic status of an individual
(2) liking-disliking of members of a group

(3) social background of group members.

(4) educational progress of a classroom group

sanfl TF fafY ¥ Rl sremm R w4
(1) =afeR ) wwnfors-anfifes fafy =

(2) % % waed # vEg-TmET W

(3} W8 F Tewt & awles Teqfy W

(4) wa-Tqe f dMaw Wiy =

Which of the following is not true for scund mental health?

(1) Adjusting processes (2) Accepting the reality
(3) Tendency to over-react (4) Contentment
P ¥ & #-th o TEReE e ® Rry we T A7
(1) TR $ St | (2) arafawn N whEr T
(@) -3 6 s @ W
41 (P.T.0,}
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113.

114.

(343)

A creative student ia one who
{1} is very talented in ‘Mathematics

' (2) consistently passes examination with good marks

(3) is highly intelligent

(4) is ahead in giving peculiar ideas
goe foremeff aw %

(1) 3 wfrr R # arer Wit ¥

2) R Frem ared st & g § ot g
@ Mg Eggw R

(@) W s Rrand w33 A o o d

Which of the foliawing is a feature of ‘insight theory’ of learning?
(1) Making many useless responses before the satisfying one

{2) Sudden perception of the relationships in a total situation

(3) Behaving in a desirable manner in anticipation of a reward
(4) Responding to parts of a total situation
frfofera # @ Wra-d sRem & o fgr B T e 47

(1) dareew sgiem # wed wga @ Prodw sgleand = wen

(2) weael wRfeafy & waeel w aTare Tesier

(3) gEae @ smm # el w0 A FTEER FE

(4 Tl TR % ot % wfy sriew we

42
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118. According to Piaget, children begin to use language in

(1) sensori-motor stage (2} preoperational stage

(3) concrete operational stage (4) formal operational stage

e & e w=t W W s wEn e

(1) TR~ amwedT ® (2) o4 wfraers aen

(3} 7 whroes s § (4) aiE W o #
116. Which of the following characteristics is not true for sensori-motor stage?

{1} Reflexive actions (2) Object permanence

(3) Reversibility of thought {4) Learning by trial and error

Pefitr & & - Ptem ddeees-TE e % wed # we o 27

() =T fFad {2 =g enReE

(3) Frart & freisfaar (4) W@ @ gfe ¥ 7o e

117. Generally defensive mechanisms are used now and then by

(1) all individuals (2) individuals with disabilities

(3) young learners (4) mentally unhealthy individuals
W RS gt g i e s R

(1) =+ =Rl g (2) AT =Rz

{3) ey ¥ it Zm (4) AR 7 & vy sufedt g

(343) 43 (P.T.0)
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118.

119.

120.

(343)

Star of a class is

(1) the student who holds first position in class

(2) the student who leads sports team -

{3) the student most liked by other students

(4) the student who remains aloof from ather students

w7 W ORR AW ¥

(1) T B S wam o wE ® @

(2) 7% frdf 9 e AN AW | gE o

(3) a8 Froel &t % o Rk o waife wr R s
(4) a8 Pt N wan % o frofiEt @ s T R

To identify the rejected student of a class, which technique will you adopt?

|1-) Testing technique _ " (2) Sociometric technique
(3) Projective technique (4) Self-report technique
o ¥ witegw frandf 6 e & R o e A W S
{1) oo wrebt (2) Wi T
(3) ward W (4) TE-TRAT TR

Which of the fellowing is predominantly related to heredity?
(1} Polio : (2) Sickle-cell Anaemia
(3) Swine Flu {4] Measles

44
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15Pf24'?,_(4

mﬁ#m-mwmﬁmﬁmt?
(1) Srfet - (2) dREmEn-whany wiftm
(3) =T W {4) =

Environmental factors that shape development of students with special needs
include all of the following, except

(1) social traditions and beliefs (2) quality of school education
{3) quatity of nutrition {4} type of blood group

(1} v v ve wears (2) feremert fovr i somesrasa
(3) MR & U (4) ®ie (W) af = won

Which of the following is a type of counselling?

(1) Deductive counseiling (2} Inductive counselling
(3} Eclectic counselling (4) Diagnostic counselling
ﬁq%&aﬁﬁm-m(aqﬁm}wuqﬂmqmmt?
(1) e gy {2) ATEARES TORE
(3) HTE et (4) P T
45 (P.T.0}
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123. Which of the following is not a chief characteriatic of good memory?
(1) Volitional attention {2) Quick recall

(3} Good retention (4) Quick and accurate recognition
Pt § & w-m s R (e B g i T 47

(1) Yoom sRdH {2) e T

(3) FGH WWS (4) ¥ am wh TN

124. Which of the following is not related to the concept of motivation?

{1) Goal directed behaviour {2) Curiosity

(3) Change in energy {4) Affective arousal
ot # 2 H-m afadon & we @ wafe T b
(1) e FEfm =R (2) R (W)
(3) S # it (4) W am

128. Which of the following statements is true about learning?
(1) Acquisition of bad habits is not learning
(2) Learning is always conscious
{3} Learning involves abandonment of previous bchaﬁnur
(4) Emotions and attitudes are not learned

(343) 46
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ﬁnﬁlﬁaﬁ#m-mm'm#mﬁmt?
(1) ¥ sdt = ond sifem =

(2) st wdw # whw B @

(3) T4 =R W Pw Ao % swola amar

(4) 531 o g R o I

Fearing criticism a student does not participate in debate competition. This is
an example of which defensive mechaniam?

(1} Withdrawal (2) Rationalization
(3) Reaction formation (4) Projection

Which of the following statements is true for negative reinforcement?

{1) Negative reinforcement means punishing a student for undesirable
behaviour

(2} Negative reini‘orccmt:ﬁt decreases the probability of occurrence of a
desirable behaviour
undesirable behaviour

(4} Negative reinforcement increases the probability of occurrence of a desirable
behaviour

47 (P.T.O0.}
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ﬁnﬁhﬁﬁﬁmmmaﬂmtﬁimt?
(1]mmwﬂtmmtﬁiﬁmﬂﬂaﬁﬁm
12;mwmm#ﬂﬁauﬁﬁmﬂmmi
(3]m$mwﬁﬂm#uﬁﬂﬂiﬁmmﬂﬂmt
;4]maﬂimaif§ammtu&aﬂiﬁmmﬁmim%

128. Charles Spearman is known for
(1) two-factor theory of intelligence
(2) three-dimensional model of intelligence
(3) the concept of achema
(4} identifying primary mcnia] abilines
= i w o rEn wmen R
(1} 73 & REww Rgm &’
@) qfz ¥ Piftnk e (W) & A
(3) Az dw () ¥y F
(4) ST AR G @ vred & R

129. Transfer of learning means
{1) skipping students to higher class more than once in a year
(2) to apply, knowledge and skill acquired in one situation, in another situation

{3) to apply, knowledge and skill acquired in the same situation again and’
again on which it was learned

(4) to transfer learners from general to special class for better jearning

(343) | 48
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Aftrm & R w1 oo &

(1) 7§ & o% ¥ AAfw M il € s 3 Dby
(2pmvmiJm“-ﬁ*mﬁwm=imm
fsjaﬁamwmmﬁmMimmmmwnmwm
(4) ¥ it ¥y sfrreatst o wo ww & AR wW F s

Which of the following is not a-type of individual differences?
(1) Differences in aptitude

{(2) Differences in values

(3) Differences in socio-economic status

(4} Differences in motor skills

Frfafem & 3 w-m1 dafee Afweadl W o8 R T &7

(1) wfrgmn 8 v

(2) g4t & 9%

(3) ummfrr-anfiw foufy & =

(4) TS el § 4
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Section—0II
, w11
(i} (English Language Camprehenaion)

Nate : Attempt all the 20 qunations in this Section, if you do not opt for Beetion—III on

Hindi Langnage Comprehension.

Four alternatives are given as ;Soasible answers to each question, Give the correct
choice as an angwer.

Directions : (Question No. 131-135) Read the {ollowing passage carefully and

131.

133.

(343}

answer the questions based on it.

For my own part, [ have ever gained the most profit, and most pleasure also
from the books which have made me think the most ;: and, when the difficultics
have once been overcome, these are the books which have struck the deepest
root, not only in my memory and understanding, but likewise in my affections.
For this point too should be taken into account. We all want to think slightly of
that which it costs us a slight effort to win. When a maiden is too forward her
admirer deems it time to draw back.

The author compares a book to
(1) a plant ' (2) a flower
(3) a maiden {4} an admirer

The author derives profit and pleasure from books that are
(1) difficult (2] easy

(3) thought-provoking {4} having deep roots
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133. Profit and pleasure come only after
{1) the books have struck deep roots
{2) the initial difficulty has been overcome
(3) the books have made him think
(4) the books are got for a small price

134. The point to be taken into account is that
(1) anything for which we don't pay a price is taken lightly
{2) we won't make effort for what we get
{3) slight effort makes us feel tired
(4) we think highly of what we win

138. A maiden, like & good book, should
{1} be easy to approach
(2) respond to the a.dmirers.
(3) not easily yvield to the admirers
- {4) be forward before her admirers drawback

Directions : (Question No. 136-138) Select the word nearest in meaning to the given
italic word.

136. Malice
(1) Hatred (2) Spite {3} Cruelty 4) Envy
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137. Euphoria _

(1) Peeling of satisfaction (2) Feeling of aickness

(3) Feeling of well-being (4) Feeling of disappointment
138. Terse

(1) Vague {2) Hard (3) Concise (4) Poolish

Directions : (Question No. 139-141) Select the word opposite in meaning to the given
italic word.

139. Mammoth

(1) Tiny (2) Weak (3} Bright (4) Dull
140. Respite
(1) Exertion {2) Delay (3] Tension {4) Regularity

141. Dormant
{1) Modern (2) Cheap {3) Fasat (4) Active

Directions : (Question No. 142-144) Select the most appropriate word to fill in the
blanks.

142. He that he would come.
(1) requested {2) said ‘ (3] pleaded (4) urged
143. We need an unusually gifted person to solve this problem,
(1) sensitive (2) sensible (3) sensuous (4] spurious
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144. As we were walking along the pavement, my little child onto the road.
(1) went (2) crept (3) crawled (4} strayed

Directions : (Question No. 145-147 Chonu; the most appropriate preposition to fill
in the blanks.

148. He thought that his father was not happy —— him.

(1) with (2) over (3) at (4} about

146. It is dangerous to enter the enemy’s camp.

(1) in (2) intw (3} through (4) by
147. 1 prefer tea coffee.
(1) to (2) in (3) than (4) over

Directions : (Question No. 148~180) Out of the given alternatives, choose the one
which can be substinited for the given words or sentence,

148. One who hates mankind
{1) Hater (2) Rebet (3) Misanthrope (4) Philanthropist

149. A long journey especially by sea
(1) Odyssey (2) Voyage (3) Safari (4) Flight

180. A person having the same name as another
(1) Namesake (2) Nickname (3) Colleague (4) Absconder
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Section—Il

eIl

(11) {fy=li wrerite)

fdr: aR W mve_1 § RY s W @ watie ge % oo 3 e, @ W

181.

152.

183.

154,

1885.

(343)
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186. % = g wiwr =1 ==f el oo & W 27
(1) SR (2) ¥EE (3) whEmm (4) TIE
187. =t fadt 3 sigenfa s # =1 v S &7

(1) AT W {2) WS W (3) WiFafm W (4) @y ww

188, ‘mirel’ # yg @ TR w37

(1) awTeft (2) an=tfers (3) arafeE (4) arfer
189, R’ ¥ [g W w3 syt fifm
{1) wefe (2) waris (3) wAE (4) "k

160, Frafafem 4 & *-w v o’ = vain = §7

(1) i (2) fifém (3) fites TR
161, ﬁw&ﬁaﬁ%ﬁnmmmﬁm

(1) ¥ (2) afr (3) =™ 4) Im

- 162, ‘TaU #1 fEm mR wwtm fikn
(1} e (2) w2 (3) ww 4) A=

163, ‘ﬁﬂlmﬁzmﬁ’—mtﬁqwmqm
(1) YTegrme (2} ra (3) OEh {4) OHIRE
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164.

168.

166.

167.

168.

169.

170.
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